A Generalization of the Stability of Functional Equations

Denghua Zhang

College of Science and Technology, North China Electric Power University, Baoding, China Correspondence: zdh645321@163.com

Abstract: The additive functional equation is the bestknown functional equation. The stability question is: At which time that the solutions of the functional inequality are near to that of the strict functional equation? In the paper, we generalize the stability of the approximately additive mapping in a restricted domain. It is provided that the mapping which meets the additive equation approximately in a restricted domain is stable in entire space.

Keywords: stability; approximately additive mapping; restricted domain

1. Introduction

In Ref. [1], Ulam put forward the fundamental problem with regard to the stability of homomorphisms. In 1941, the first significant result concerning this subject was gave by Hyers [2] which established the stability of the additive mapping. After that, functional equations stability is generalized and developed by an increasing number of mathematicians in various directions (see [3-14]). In particular, Rassias presented a drastic generalization of Hyers's theorem and provided a generalized solving method for Ulam's problem [3].

So far, the stability of functional equations defined on entire space was studied. The enquiry about the stability of the additive mapping in a restricted domain is natural. Exactly speaking, whether a strict additive mapping close to a mapping satisfying the additive inequality in a restricted domain.

Skof gave a result that was a good answer to the above question [4]. Hyers confirmed a generalized stability theorem of the additive mapping in a restricted domain and employed it to the asymptotic derivability which plays a significant role in nonlinear analysis [5].

In the note, we prove some theorems on stability of approximate additive mapping, which generalize Skof's theorem.

2. Main Results

Theorem 1. Let E_1 be a real normed vector space, E_2 be a real Banach space. Given numbers $\mathcal{E} > 0$, $m \ge 0$, $r \ge 2$, $r \in N$ and p with $0 . If <math>f: E_1 \to E_2$ satisfies

$$\left\| f(\sum_{n=1}^{r} x_{n}) - \sum_{n=1}^{r} f(x_{n}) \right\| \le \varepsilon \sum_{n=1}^{r} \|x_{n}\|^{p}$$
(1)

for all $x_i \in E_1$, $1 \le i \le r$ with $\sum_{i=1}^r ||x_i||^p \ge m^p$, then there is

a unique additive mapping $\psi: E_1 \to E_2$ such that

$$\|f(x) - \psi(x)\| \le \frac{\varepsilon}{1 - r^{p-1}} \|x\|^p$$
 (2)

for all $x \in E_1$ with $||x|| > \frac{m}{r^{1/p}}$. Moreover, ψ is presented by the formula

$$\psi(x) = \lim_{n \to \infty} \frac{1}{r^n} [f(r^n x)]$$
(3)

for all $x \in E_1$.

Proof. Claim that when $||x|| > \frac{m}{r^{1/p}}$, we have $\left\|\frac{f(r^n x)}{r^n} - f(x)\right\| \le \varepsilon ||x||^p \sum_{m=0}^{n-1} (r^{p-1})^m$ (4)

for any integer *n*. We use induction on *n*. The case *n*=1, when $||x|| > \frac{m}{r^{1/p}}$, that is when $r||x||^p \ge m^p$, we may put $x_1 = x_2 = \ldots = x_r = x \text{ in } (1) \text{ to obtain}$

$$\left\|\frac{f(rx)}{r} - f(x)\right\| \le \varepsilon \|x\|^p \cdot$$

Assume that (4) holds for some $n \in N$ and we want to prove it for the case n+1. Because in (4), we can replace

x by rx since
$$||rx|| > \frac{m}{r^{1/p}}$$
, we get

$$\left\|\frac{f(r^n rx)}{r^n} - f(rx)\right\| \leq \varepsilon \|rx\|^p \sum_{m=0}^{n-1} (r^{p-1})^m \cdot$$

$$\left\|\frac{f(r^{n+1}x)}{r^{n+1}} - \frac{f(rx)}{r}\right\| \le \varepsilon \|x\|^p \sum_{m=1}^n (r^{p-1})^m \cdot$$

We obtain that

$$\left\| \frac{f(r^{n+1}x)}{r^{n+1}} - f(x) \right\| \leq \left\| \frac{f(r^{n+1}x)}{r^{n+1}} - \frac{f(rx)}{r} \right\| + \left\| \frac{f(rx)}{r} - f(x) \right\|$$

$$\leq \mathcal{E} \left\| x \right\|^p \sum_{m=1}^n (r^{p-1})^m + \mathcal{E} \left\| x \right\|^p = \mathcal{E} \left\| x \right\|^p \sum_{m=0}^n (r^{p-1})^m .$$

Thus for any integer n, we arrive at (4). Because

$$\sum_{m=0}^{\infty} (r^{p-1})^m \text{ converges to } \frac{1}{1-r^{p-1}} \text{ as } 0
$$\left\| \frac{f(r^{n+1}x)}{r^{n+1}} - f(x) \right\| \le \frac{1}{1-r^{p-1}} \varepsilon \|x\|^p \cdot$$$$

However for m > n > 0,

$$\left\|\frac{f(r^{m}x)}{r^{m}} - \frac{f(r^{n}x)}{r^{n}}\right\| = \frac{1}{r^{n}} \left\|\frac{f(r^{m}x)}{r^{m-n}} - f(r^{n}x)\right\|$$

$$\leq \frac{1}{r^{n}} \frac{1}{1 - r^{p-1}} \varepsilon \left\|r^{n}x\right\|^{p} \cdot \operatorname{So} \lim_{m, n \to \infty} \left\|\frac{f(r^{m}x)}{r^{m}} - \frac{f(r^{n}x)}{r^{n}}\right\| = 0.$$

Since E_2 is complete, thus the sequence $\{\frac{1}{x^n}[f(r^n x)]\}$ converges.

Let
$$g(x) = \lim_{n \to \infty} \frac{1}{r^n} [f(r^n x)]$$
, then when $||x|| > \frac{m}{r^{1/p}}$,
 $||g(x) - f(x)|| \le \frac{1}{1 - r^{p-1}} \varepsilon ||x||^p$ (5)

Now we suppose that $||x_i|| \ge \frac{m}{r^{1/p}}$ and $\left||\sum_{i=1}^r x_i|| \ge \frac{m}{r^{1/p}}\right|$,

then for all $n \in N$, by (1) we have that

$$g(\sum_{k=1}^{r} x_{k}) = \sum_{k=1}^{r} g(x_{k}) \cdot \left\| \frac{1}{r^{n}} f(\sum_{i=1}^{r} r^{n} x_{i}) - \frac{1}{r^{n}} \sum_{i=1}^{r} f(r^{n} x_{i}) \right\|$$
$$\leq \frac{\varepsilon}{r^{n(1-p)}} \sum_{i=1}^{r} \|x_{i}\|^{p}.$$

By the definition of g, we get that for all $x_i \in E_1, 1 \le i \le r$ with $||x_i|| \ge \frac{m}{r^{1/p}}$ and $||\sum_{i=1}^r x_i|| \ge \frac{m}{r^{1/p}}$,

Given any $x \in E_1$ with $0 < ||x|| \le \frac{m}{r^{1/p}}$, let

$$k = k(x) = \min\{k \in N : r^k ||x|| \ge \frac{m}{r^{1/p}}\}. \text{ And set}$$
$$\psi(x) = \begin{cases} 0, \dots & x = 0;\\ r^{-k}g(r^k x), \dots & 0 < ||x|| < \frac{m}{r^{1/p}}; \end{cases}$$

$$\begin{cases} r & g(r, x), r & 0 < ||x|| < \frac{r^{1/p}}{r^{1/p}}. \end{cases}$$

then ψ is an extension of g to E_1 .

Now we prove that for every $x \in E_1$

$$\psi(x) = \lim_{n \to \infty} \frac{1}{r^n} [f(r^n x)].$$

Fixed an x in E_1 with $0 < ||x|| < \frac{m}{r^{1/p}}$, we can see

Case 1. If $0 < ||rx|| < \frac{m}{r^{1/p}}$, then k(rx) = k(x) - 1 = k - 1 and by definition we have

 $\psi(rx) = r^{-(k-1)}g(r^{k-1}(rx)) = r^{-k}rg(r^{k}x) = r\psi(x). \text{ Cas}$ e 2. If $||rx|| \ge \frac{m}{r^{1/p}}$, then k(x) = 1 and k(rx) = 0. So $\psi(rx) = g(rx) = r^{-1}rg(rx) = r\psi(x)$. Then we get that for all x in $E_{l}, \psi(rx) = r\psi(x)$.

Let a nonzero element $x \in E_1$. Select a positive integer M so big satisfying $||r^M x|| \ge \frac{m}{r^{1/p}}$. Then $\psi(x) = r^{-M} g(r^M x) = r^{-M} \lim_{n \to \infty} \frac{1}{r^n} f(r^n \cdot r^M x)$ $= \lim_{n \to \infty} \frac{1}{r^{n+M}} f(r^{n+M} x)$

which proves (3) for $x \neq 0$. Obviously (3) is true for x=0.

Nest we will prove the additivity of ψ . When either x or y is zero, we can easily come out that ψ is additive. Suppose that $x \neq 0$ and $y \neq 0$, choose integer n > 0 with

$$\|r^{n}x\|^{p} + \|r^{n}y\|^{p} > m^{p}, \text{ then we have from (1) that} \|f(r^{n}x + r^{n}y + 0 + \dots + 0) - f(r^{n}x) - f(r^{n}y) - (r-2)f(0)\| \le \varepsilon (\|r^{n}x\|^{p} + \|r^{n}y\|^{p}).$$

Divide two sides of this inequality by r^n , we compute that $\psi(x+y) = \psi(x) + \psi(y)$.

So ψ is an additive mapping. Since when $||x|| \ge \frac{m}{r^{1/p}}$, $\psi(x) = g(x)$, then by (5) we obtain (2).

The last we prove that ψ is unique. Assume there is an additive mapping $\phi: E_1 \to E_2$ satisfies (2) when $||x|| \ge \frac{m}{r^{1/p}}$, then for all $x \in E_1 \setminus \{0\}$, we deduce that

$$\left\|\phi(nx) - \psi(nx)\right\| \le \frac{2\varepsilon}{1 - r^{p-1}} \left\|x\right\|^p$$

for the big enough n. Therefore

$$\left\|\phi(x) - \psi(x)\right\| \le \frac{2\varepsilon}{n(1-r^{p-1})} \left\|x\right\|^p$$

Let $n \to \infty$, we find that $\phi(x) = \psi(x)$, $\forall x \in E_1 \setminus \{0\}$. Obviously, $\phi(0) = \psi(0)$.

Corollary 1. Let E_1 be a real normed vector space, E_2 be a real Banach space. Given numbers $\varepsilon > 0$, $m \ge 0$, $r \ge 2$, $r \in N$ and p with $0 \le p < 1$. If $f: E_1 \to E_2$ satisfies

$$\|g(x) - f(x)\| \le \frac{1}{1 - r^{p-1}} \varepsilon \|x\|^p$$
 (5)

$$\left\| f(\sum_{n=1}^{r} x_{n}) - \sum_{n=1}^{r} f(x_{n}) \right\| \le \varepsilon \sum_{n=1}^{r} \|x_{n}\|^{p}$$
(6)

for all $x_i \in E_1$, $1 \le i \le r$ with $||x_i|| \ge m$ and $\sum_{i=1}^r ||x_i|| \ge m$. Then there is a unique additive function $\psi: E_1 \to E_2$ such that

$$\left\|f(x) - \psi(x)\right\| \le \frac{\varepsilon}{1 - r^{p-1}} \left\|x\right\|^p \tag{7}$$

for all $x \in E_1$ with ||x|| > m.

Proof. We replace $||x|| > \frac{m}{r^{1/p}}$ with $||x_i|| \ge m$ and the

proof is similar with the proof of Theorem 1.

By using the result of Corollary 1 we can get the following result.

Corollary 2. Let E_1 be a real normed vector space, E_1 be a real Banach space and $\varepsilon \ge 0$, $m \ge 0$, $r \ge 2$, $r \in N$. If $f: E_1 \rightarrow E_2$ satisfies

$$\left\|f\left(\sum_{n=1}^{r} x_{n}\right) - \sum_{n=1}^{r} f\left(x_{n}\right)\right\| \leq \varepsilon$$
(8)

for all $x_i \in E_1$, $1 \le i \le r$ with $\sum_{i=1}^r ||x_i|| \ge m$. Then there is

a unique additive mapping $\psi: E_1 \to E_2$ such that

$$\left\|f(x) - \psi(x)\right\| \le \frac{\varepsilon}{r-1} \tag{9}$$

for all $x \in E_1$ with $||x|| > \frac{m}{r}$, and

$$||f(x) - \psi(x)|| \le 9\varepsilon + 9(r-2)||f(0)||, \quad \forall x \in E_1.$$
 (10)

Proof. From Corollary 1, we know that there exists an additive mapping $\psi: E_1 \to E_2$ satisfying (9) when $x \in E_1$ and $\| \cdot \| > m$ On the other hand, when $\| \cdot \| \cdot \| \cdot \| > m$.

and $||x|| \ge \frac{m}{n}$. On the other hand, when $||x|| + ||y|| \ge m$,

$$||f(x+y) - f(x) - f(y)|| \le \varepsilon + (r-2)||f(0)||.$$

Therefore, by F. Skof's theorem in [4], there is an additive mapping $\varphi: E_1 \to E_2$ such that

$$\|f(x) - \varphi(x)\| \le 9\varepsilon + 9(r-2)\|f(0)\|, \forall x \in E_1.$$
 (11)

Thus, for each $x \in E_1 \setminus \{0\}$, when *n* is big enough, we

have
$$\|\varphi(nx) - \psi(nx)\| \le 9\varepsilon + \frac{\varepsilon}{r-1} + 9(r-2)\|f(0)\|$$
.

Therefore

$$\left\|\varphi(x) - \psi(x)\right\| \le \frac{9(r-2)\left\|f(0)\right\|}{n} + \frac{9\varepsilon}{n} + \frac{\varepsilon}{n(r-1)}$$

Let $n \to \infty$, we see that $\varphi(x) = \psi(x)$. Obviously, $\varphi(0) = \psi(0)$. Thus, from (11), we obtain (10).

3. Conclusion

This paper mainly discuss the stability of functional equations. We generalize the stability of the approximately additive mapping in a restricted domain. And we prove that the mapping which meets the additive equation approximately in a restricted domain is stable in entire space. These results generalize Skof's theorem.

Acknowledgment

This research supported by the Fundamental Research Funds for the Central Universities (Grant No. 2018MS160), the Fundamental Research Funds for the Central Universities (Grant No. 9161017007).

References

- [1] S.M. Ulam. A Collection of Mathematical Problems. Interscience: New York, 1960.
- [2] D.H. Hyersl. On the stability of the linear functional equation. *Proc. Nat. Acad. Sci. U. S. A.*, **1941**, 27: 222–224.
- [3] T.M. Rassias. On the stability of the linear mapping in Banach spaces. Proc. Amer. Math. Soc., 1978, 72: 297–300.
- [4] F. Skof, Proprieta locali e approssimazione dioperatori. *Rend. Sem. Mat. Fis. Milano*, **1983**, 53: 113-129.
- [5] D.H. Hyers; G. Isac and Th.M. Rassias. On the asymptoticity aspect of Hyers-Ulam stability of mapping. *Proc. Amer. Math. Soc.*, **1998**, 126: 425-430.
- [6] D.H. Zhang; H.X. Cao. Stability of group and ring homomorphisms. *Math. Inequal. Appl.*, 2006, 9(3): 521-528.
- [7] D.Z. Kong, L.S. Liu and Y.H. Wu. Coupled best approximation theorems in partially ordered Banach spaces. *J. Nonlinear Sci. Appl.*, **2017**, 10: 2946-2956.
- [8] X.X. Zheng, Y.D. Shang, X.M. Peng. Orbital stability of periodic traveling wave solutions to the generalized zakharov equations. *Acta Mathematica Scientia*, 2017, 37B(4): 1–21.
- [9] M. Almahalebi. On the hyperstability of σ -Drygas functional equation on semigroups. *Aequationes Mathematicae*, **2016**, 90(4): 1-9.
- [10] M. Liu and M.M. Song, Generalized stability of an AQfunctional equation in quasi-(2;p)-Banach spaces. J. Math. Computer Sci., 2016, 6(5): 712-729.
- [11] C. Diminnie, S. G\u00e4hler and A. White. 2-inner product spaces. II. *Demonstratio Math*, **2016**, 10(1): 169-188.
- [12] Y.S. Lee. Stability of quadratic functional equations in generalized functions. *Adv. Differ. Equ-Ny*, **2013**, 1: 1-15.
- [13] L. Xu, H.X. Cao, W.T. Zhang and Z.X. Gao. Superstability and stability of the exponential equations. J. Math. Inequal., 2010, 4(1): 37-44.
- [14] J. Huang and Y. Li. Hyers-Ulam stability of linear functional differential equations. J. Math. Anal. Appl., 2015, 426: 1192-1200.

Denghua Zhang was born in Suizhou City, Hubei province, China, in 1980. She received M.S. degree in Applied Mathematics from the Shanxi Normal University in 2005. Since 2005, she has been a lecture in College of Science and Technology, North China Electric Power University. Her research interest includes the theory of operator, the system of topological dynamic.